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1. What is Digital Electronics?  

(A)   Field of electronics involving the study of digital signal 

(B) Engineering of devices that digital signal 

(C) Engineering of devices that produce digital signal  

(D) All of the above  

2. Which of the following is an example of a digital Electronic?  

(A)   Computers  

(B) Information appliances 

(C) Digital cameras  

(D) All of the mentioned   

3. Which number system has a base 16? 

(A)   Hexadecimal 

(B) Octal 

(C) Binary  

(D) Decimal   

4. The following hexadecimal number (1ܧ. 43)ଵ଺ is equivalent to:   

(A)   (36.206)଼ 

(B) (36.506)଼ 

(C) (35.506)଼  

(D) (35.206)଼   

5. Convert (312)଼ into decimal: 

(A)   (210)ଵ଴ 

(B)  (202)ଵ଴ 

(C)  (203)ଵ଴  

(D)  (204)ଵ଴   
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6. Which of these sets of logic gates are known as universal gates?   

(A)   XOR, NAND, OR 

(B) OR, NOT, XOR 

(C) NOR, NAND, XNOR 

(D) NOR, NAND   

7. What is the addition of the binary number 101001 + 010011=?  

(A)   010100 

(B) 111100 

(C) 000111 

(D) 101110   

8. What is the binary multiplication of 10100*01011=?  

(A)   011011000 

(B) 011001100 

(C) 011011100  

(D) 011100011   

9. 1’s complement of 1011001 is:  

(A)   0100111 

(B) 0101100 

(C) 0100110  

(D) 0110110   

10. _______ is an example of associativity law.  

(A)   a+0=0+a=a 

(B) 1+a=a+1=1 

(C) a+bc=(a+b)(a+c)  

(D) a+(b+c)=(a+b)+c   
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11. The inverter is:  

(A)   NOT gate 

(B) OR gate 

(C) AND gate  

(D) None of the above   

12. In Boolean algebra, the bar sign (-) indicates _______.    

(A)   OR gate 

(B) AND gate 

(C) NOT gate 

(D) None of the above   

13. The primary memory (also called main memory) of a personal computer consists 

of:    

(A)   RAM 

(B) ROM 

(C) Both (A) & (B) 

(D) None of the above   

14. What is the full form of RAM?  

(A)   Random Access Memory  

(B) Read Access Memory 

(C) Readable Access Memory 

(D) Random Accumulator Memory   

15. What is the full form of ROM?  

(A)   Random Only Memory 

(B) Read-Only Memory 

(C) Register Only Memory 

(D) Readable Only Memory   
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16. Which is volatile memory?  

(A)   RAM 

(B) ROM 

(C) Register Only Memory   

(D) None of the above   

17. The full form of PROM is?  

(A)   Page Read Only Memory 

(B) Past Read Only Memory 

(C) Persist Read Only Memory  

(D) Programmable Read Only Memory   

18. In which type of ROM, data can be erased by ultraviolet light and then 

reprogrammed by the user or manufacturer?  

(A)   PROM 

(B) EPROM 

(C) Cache Memory  

(D) Both (A)  & (B)    

19. The full form of SRAM is:  

(A)   Sequential Random Access Memory  

(B) Starting Random Access Memory 

(C) Static Random Access Memory  

(D) None of the above   

20. There are______ cells in a 4-variable K-map.  

(A)   12 

(B) 16 

(C) 18  

(D) 8   
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21. Convert (235)଼ to  decimal number:  
(A)   157 
(B) 1007 
(C) 25  
(D) 56   

22. Each product term of a group, w’.x.y’ and w.y, represents the _____ in that  group.  
(A)   Input 
(B) POS 
(C) Sum-of-Minterms  
(D) Sum-of -Maxterms    

23. Don’t care conditions can be used for simplifying Boolean expressions in______.  
(A)   Registers  
(B) Terms 
(C) Latches  
(D) K-map   

24. Simplify the expression using K-maps: F (A,B,C,D)=Σ(1,3,5,6,7,11,13,14) :  
(A)   AB+BC’D+A’B’C 
(B) BCD’+A’C’D+BD 
(C) AC’D’+BC+A’BD+C’D’  
(D) A’D+BCD+A’BC+AB’C’   

25. 1 Byte =______ bits.  
(A)   2 
(B) 3 
(C) 4  
(D) 8   

26. Simplify the expression using K-maps: F (A,B,C) )=Σ(1,3,5,6,7)  
(A)   AC’+B’ 
(B) AB+C 
(C) AB’+B’C’  
(D) A’BC+B’C+AC   
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27. The Boot sector files of the system are stored in which computer memory?  
(A)   RAM 
(B) ROM 
(C) Cache  
(D) Register   

28. Which memory acts as a buffer between CPU and main memory?  
(A) RAM 
(B) ROM 
(C) Cache  
(D) Storage   

29. Total number of inputs in a half adder is______.  
(A)   2 
(B) 3 
(C) 4  
(D) 1   

30. In which operation carry is obtained?  
(A)   Subtraction 
(B) Addition 
(C) Multiplication  
(D) None of the above   

31. If A and B are the inputs of a half adder, the sum is given by: 
(A)   A AND B 
(B) A OR B 
(C) A XOR B 
(D) A EX-NOR B 

32. Half subtractor is used to perform subtraction of ______. 

(A)   2 bits 

(B) 3 bits 

(C) 4 bits  

(D) 5 bits   
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33. How many outputs are required for the implementation of a subtractor?  

(A)   1 

(B) 2 

(C) 3  

(D) 4   

34. What is a multiplexer?  

(A)   It is a type of decoder which decodes several inputs and gives one output 

(B) A multiplexer is a device which converts many signals into one 

(C) It takes one input and results into many output  

(D) It is a type of encoder which decodes several inputs and gives one output   

35. Which combinational circuit is renowned for selecting a single input from multiple 

inputs & directing the binary information to output line?  

(A)   Data Selector 

(B) Data distributor 

(C) Both data selector and data distributor 

(D) DeMultiplexer   

36. Which is the major functioning responsibility of the multiplexing combinational 

circuit? 

(A)   Decoding the binary information 

(B) Generation of all minterms in an output function with OR-gate 

(C) Generation of selected path between multiple sources and a single destination   

(D) Encoding of binary information   

37. If the number of n selected input lines is equal to 2^m then it requires _____ select 

lines.  

(A)   2 

(B) m 

(C) N  

(D) 2n   
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38. The full form of UVEPROM:  
(A)   Uniform Essential Programmable Read Only Memory 
(B) Ultraviolet Erasable Programmable Read Only Memory 
(C) Universal Edit Program Research Only Memory    
(D) None of the above 

39. In a multiplexer, if there are 4 input lines and 1 output line, then number of 
selection lines will be:  
(A)   3 
(B) 0 
(C) 2  
(D) 1   

40. How many inputs will a decimal-to-BCD encoder have?  
(A)  4 
(B) 8 
(C) 10  
(D) 16   

41. How many outputs will a decimal-to-BCD encoder have?  
(A)   4 
(B) 8 
(C) 12  
(D) 16   

42. A decoder converts n inputs to ______ outputs.  
(A)   n 
(B) n2 
(C) 2n  
(D) nn  

43. Which of the following can be represented for decoder? 
(A)   Sequential circuit 
(B) Combinational circuit 
(C) Logical circuit 
(D) None of the mentioned above   

44. Which of the following represents a number of output lines for a decoder with 4 
input lines?  
(A)   15 
(B) 16 
(C) 17  
(D) 18  
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45. Which of the following logic expressions represents the logic diagram shown?  
 

 

 

 

(A)   X=AB’+A’B 
(B) X=(AB)’+AB 
(C) X=(AB)’+A’B’  
(D) X=A’B’+AB  

46. How many types of sequential circuits are?  
(A)   2 
(B) 3 
(C) 4  
(D) 5   

47. The sequential circuit is also called ______.  
(A)   Flip-flop 
(B) Latch 
(C) Strobe  
(D) Adder   

48. In S-R flip-flop, if Q = 0 the output is said to be ______.  
(A)   Set 
(B) Reset 
(C) Previous state  
(D) Current state   

49. Which of the following is correct for a gated D-type flip-flop?  
(A)   The Q output is either SET or RESET as soon as the D input goes HIGH or 

LOW 
(B) The output complement follows the input when enabled 
(C) Only one of the inputs can be HIGH at a time 
(D) The output toggles if one of the inputs is held HIGH  

50. Which among following is considered as fastest memory?  
(A)   External Hard Disk 
(B) Cache 
(C) RAM 
(D) ROM 
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51. Which is not following flip flop?  

(A)   S-R 

(B) J-K 

(C) D  

(D) B   

52. The S-R flip flop consist of ______.  

(A)   4 AND gates 

(B) Two additional AND gates 

(C) An additional clock input  

(D) None of the above   

53. How much input and output needed for demultiplexer?  

(A)   Many outputs to one input 

(B) One input many outputs 

(C) One input one output 

(D) None  of these    

54. The full form of SIPO is _______.  

(A)   Serial-in Parallel-out 

(B) Parallel-in Serial-out 

(C) Serial- in Serial-out  

(D) Serial-in Peripheral-Out   

55. The full form of PIPO is _______.  

(A)   Parallel in Parallel out 

(B) Partial in Partial out 

(C) Past in Past Out 

(D) None of the above   
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56. The register is a type of _______.  

(A)   Sequential circuit 

(B) Combinational circuit  

(C) CPU  

(D) Latches   

57. The main difference between a register and a counter is _______.  

(A)   A register has no specific sequence of states 

(B) A counter has no specific sequence of states 

(C) A register has capability to store one bit of information but counter has n-bit 

(D) A register counts data 

58. A shift register is defined as _______.  

(A)   The register capable of shifting information to another register 

(B) The register capable of shifting information either to the right or to the left 

(C) The register capable of shifting information to the right only 

(D) The register capable of shifting information to the left only   

59. In digital logic, a counter is a device which ______.    

(A)   Counts the number of outputs 

(B) Stores the number of times a particular event or process has occurred 

(C) Stores the number of times a clock pulse rises and falls 

(D) Counts the number of inputs 

60. The parallel outputs of a counter circuit represent the _______. 
(A)   Parallel data word 
(B) Clock frequency 
(C) Counter modulus 
(D) Clock count   

61. Ripple counters are also called _______.  
(A)   SSI counters 
(B) Asynchronous counters 
(C) Synchronous counters 
(D) VLSI counters   
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62. Which of the following has the highest data density?  

(A)   Hard disk 

(B) Floppy disk 

(C) Tape drive  

(D) None of the above   

63. What is the storage capacity of a compact disk?   
(A)   800 MB 
(B) 900 MB 
(C) 700 MB 
(D) 100 MB   

64. Which of the following is not an example of a storage device?  
(A)   Hard disk 
(B) CD 
(C) Mouse  
(D) None of the above   

65. The number of bits needed to address 4k memory is:  
(A)   6 
(B) 8 
(C) 12  
(D) 16   

66. A name or number used to identify a storage location is called a/an:  
(A)   Byte 
(B) Data 
(C) Constant   
(D) Address   

67. When a system suddenly shuts down, where can the data be stored so that it can 
remain intact?  
(A)   Primary Storage Device 
(B) Read Only Memory 
(C) Secondary Storage Device  
(D) None of the above   
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68. In which of the following magnetic storage devices is the data stored on a 
cylindrical drum and subdivided into tracks?   
(A)   Punched card 
(B) Magnetic disk 
(C) Magnetic Tape  
(D) Magnetic drum   

69. Which part of a computer helps to store information?  
(A)   Disk drive 
(B) Monitor 
(C) Keyboard  
(D) Printer   

70. Which of the following is the largest unit of storage?  
(A)   Gigabyte 
(B) Terabyte 
(C) Kilobyte  
(D) None of the above   

71. RAM and ROM are the examples of:  
(A)   Sequential 
(B) Secondary 
(C) Primary  
(D) First   

72. DRAM stands for:  
(A)   Drum Read Access Memory 
(B) Disable AND Accurate Memory 
(C) Dynamic Random Access Memory  
(D) All of the above 

73. What is the standard form of S-R flip flop?  
(A)   Simple-Reset 
(B) Set-Reset 
(C) Single-Reset  
(D) None of the above   
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74. When the set is enabled in S-R flip flop then the output will be _______.  
(A)   Set 
(B) Reset 
(C) No change  
(D) Intermediate    

75. When both set and reset are disabled in S-R flip flop then the output will be______.  
(A)   Set 
(B) Reset 
(C) No change  
(D) Intermediate    

76. The preset input is used to make output _______.  
(A)   Q=1 
(B) Q=0 
(C) Invalid  
(D) No change   

77. A flip flop is an _______.  
(A)   Edge sensitive device 
(B) Synchronous device 
(C) Both (A) and (B) 
(D) None of the above  

78. The universal gate is:  
(A)   NAND gate 
(B) OR gate 
(C) AND gate  
(D) None of the above   

79. The no-change conditions occur when ______ in JK flip flop.  
(A)   J=1, K=1 
(B) J=0, K=0 
(C) J=1, K=0  
(D) J=0, K=1 

80. How many outputs does D-flip flop have?  
(A)   One 
(B) Two 
(C) Three  
(D) Four    
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81. In which manner does down counter count?  
(A)   Upward 
(B) Downward 
(C) Both (A) & (B)    
(D) None of the above   

82. How many of states are there in a 3 bit counter? 
(A)   One  
(B) Four 
(C) Eight  
(D) Sixteen   

83. The full form of CPU: 
(A)   Central Processing Unit 
(B) Central Public Unit 
(C) Central Population Unit  
(D) None of the above   

84. The full form of ALU:  
(A)   Another Logic Unit 
(B) Amongst Large Unit 
(C) All Large Unit  
(D) Arithmetic Logical Unit   

85. The binary numbers are:  
(A)   3,4 
(B) 7,8 
(C) 0,1  
(D) 9, 5   

86. Which of the following memories must be refreshed many times per second?  
(A)   EPROM 
(B) ROM 
(C) Static ROM  
(D) Dynamic ROM   

87. USB-type storage device is:  
(A)   Secondary 
(B) Tertiary 
(C) Primary 
(D) None of the above   
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88. How many address inputs are required to access 256 Bytes memory?  
(A)   256 
(B) 2 
(C) 8  
(D) 16   

89. What will be the number of cylinders in a hard disk in which each recording 
surface contains 8 tracks and each track is divided into 16 sectors?   
(A)   8 
(B) 128 
(C) 24  
(D) 16  

90. Because of virtual memory, the memory can be shared among _______.  
(A)   Processes 
(B) Threads 
(C) Instructions  
(D) None of the above   

91. What memory is called separation of user logical memory and physical memory?  
(A)   Memory sharing 
(B) Memory management 
(C) Memory control  
(D) Virtual memory   

92.  In ______ mapping, the data can be mapped anywhere in the Cache Memory. 
(A)   Associative 
(B) Direct 
(C) Set Associative  
(D) Indirect   

93. The cache memory of 1K words uses direct mapping with a block size of 4 words. 
How many blocks can the cache accommodate?  
(A)   512 words 
(B) 256 words 
(C) 1024 words  
(D) 128 words   
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94. The Boolean expression of OR gate:  
(A)   A+B 
(B) A-B 
(C) A.B  
(D) None of the above   

95. The Boolean expression of AND gate:  
(A)   A+B 
(B) A-B 
(C) A.B  
(D) None of the above     

96. In which of the following base system is 123 not a valid number?    
(A)   Base 10 
(B) Base 16 
(C) Base 8  
(D) Base 3   

97. What are the basic gates?  
(A)   AND 
(B) OR 
(C) NOT  
(D) All of the above   

98. BCD counter is also known as _______.  
(A)   Parallel counter 
(B) Decade counter 
(C) Synchronous counter  
(D) VLSI counter   

99. 4 to 1 MUX would have:  
(A)   2 output 
(B) 3 output 
(C) 1 output  
(D) 6 output   

100. Which of the following circuit can be used as parallel to serial converter?   
(A)   Multiplexer 
(B) Demultiplexer 
(C) Decoder  
(D) Digital counter    

****** 
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